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④ Interactions

4.1 Generalities :
4.2 Vertex operators : introduction
u
.
] Vertex operators : open string \
4.4 Thestate vertex csrvnpondmce i

open strings \
closed string

4. 5 3- point interactions

4. 6 4- point tachyon amplitude
( 4.7 Comments on the gmerd picture )
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The amplitude now has an interpretation in
Euclidean worksheet.
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Modification of the vertex operators due to the .
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End of lecture 10

Next : - move on anformd transformations
• gauge fixing procedure

☐ Comments on the gmerd picture


